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JENPAS(LG)-1023
PHYSICS
Category-1 (. 1 1o 15)

(Carry 1 mark each. Only one option is correct. Negative marks: —'4)

When a force F=xy'i+x'yj N acts on a particle and moves il along a straight line from
the origin to the point (4, 0), the work done 1s,

OB W F=xy’ien’y] N R g3 3w B S Amw e gefiew cor e v
TR (4, 0) Rrgre W 3z ©vs o arhy e os

(A} 20 (By 75! (Cy 65) Dy O

When a spring is stretched by x amount, the potential energy stored in it is E. When the
spring is streiched by another x amount, the potential energy stared i the spring becomes

E’.mn%ii

a% o « #fiwe G W Wy B e e weay | PSre ws x e
WWMHE*}W%-&!WH,

(A) 1 (B) 112 ()Y 14 (D) 4

An anificial satelfite is moving in a circulde debit around the earth with a speed equal to
half the magnitude of the escape velogity from the earth’s surface, The height of the
satellite above the earth's surface is [R ( Badius ot the carth]

ol BT, b SR wrde Ao @ e gEeR IUF R
mmqﬁnqmmﬂaﬁmwm=qﬂamﬁ,

. R 3
(Al 2R {3) %H‘. ) 3 (D) R

EXC,

Consider the two different situations X and Y of two concentne coils of Ny and N1 turns
and radii R and R respectively s shown above, IF the magnetic field at O in situation Xs
B, and in sitation Y 15 B, then B.—B. s
o 2o TS N, @ N S8 Hown B gw )8 R T9d RER 5T s ety
o6 fom www X o v R 78 o X IS T O-08 pINe (R YA R, TS Y
SAYH (@8 (-0% [BIYSF [P OW B, TTEE B, B, 49 9 T°H,
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b e e i A SR RN P e . ——
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A3 shown above, 2 hollow c:,,'lj_mjpr hox a -cha_fgl; [ w itham 1o I < 45 thl:.'-'_-E.'|EE1I.'I1.." flux through
the curved surtace ‘B”, then the flux hinked with the plane surface “A” 13,

B e gul w1 e feere ¢ wwe wefis | S TEhe BT W R ER
miﬂﬁﬂﬁmltmmﬂmjtmummﬁﬂﬁtﬂﬂmm.

'R (4 e ) @
(A) e, (B) |Lt'r. :h] iy T d:r-! (D 3

6. A parficle is moving in o straight line with simple harmonicmohon &1 amplitude *A° A_i i
distance B from the mesn position, the particle receives o blow mm the direction of motion
which instantuneously doubles the velocity. The new amplitmde A will be,

Leai L ‘A" e [ ww preene wa rEi e ia wa | B avE we
T%T% B HA0§ 9 & (e offee ity (o va orow sare o @ fee 78
T A FE A e, :

(A] ~Jaa? - @? (B) ZA () ~,|I'1,:..1_4a-‘ Dy A

7. Five molecules of an ideal gas Navewelocimies 2. 3, 4, 4 and 5 mis. If their avernge veloary
is ¥ and their RMS velocinviy™s., then

[T S R 7efs S P aw TS 23,4, 46 § s | O wEE N T2 v WE o
RMS 3% v 90 &,

(A) v2 =i® (B v, =% ) v, =7 Dy v T=|

8. An electron of mass m and a photon have same encrgy U, IF their de Broglie wavelengths

are A_ und A, respectively, then %— 15 proportional to,

m (I A ARG & Qo (T oW £ A o el S-gv weeied veees
A9 W WA 3_:": -8 WA 5T G * oS 7

(A} E By +JE

(Cy E12 (D) iwdependent of E - o@ 9w Wowd s
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The van mtion 'J-l'\u-llilgr Vowilh fhll[ﬂ! Q0 of o Eﬂpﬂ'ﬂhﬂ‘r i5 shown in the ﬁHul‘E_ The arca of
the tnangle OAB represents,
0 =0
(A} Capacitance (B) Magneuc field between the plates
(Y Inductance iD)  Enecrgy storad in the capacitor
D W W Q- AT V- &% *Hads B DT ST | TWE, OAB
frgTwa Twarew o o i
W,
{A) wEwy (B) e gk wrEe W T TR TR
(C) e (D) s Aws
The given figure shows the variation of predsure P versus density p for an idcal gas at two
temperatures T, and T:. Then,
eEal T, 6 T. Twew qaliaed M g o 8 7Y P 0 Aodh Rof
Y | TR,
AT T 5T, @ T,-T, (€} T,<T, o Tl=T,
A thin uniford rod of length L and mass M is swinging freely about a horizontal axis
passing through its end. Its maxumum angular ypeed 15 w. 15 cenire of mass rises o a
maximum height of
L 71 @ M w2 il waf oy W o o el weiiE wre ArTe T S
wrwies  apE | wslie wdfe r@fae @ T o | T Wbt Ty T Tdive S
wffawT IE T A,
| Lew 1 Lia? 1 L | Lia?
(Al & {Bllg (<) 1 g {E}}hu
A convex lens of focal length 10 em produces a five-times magnified real image of an

object. What is the object distance ?

10 em TOTETT brdy AR 4=® Tuw v auf wg feer el iy o v o

NI FAHTG &8
(A) 16em (B} 8cm 0 12em (D) 10cm
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The velocity v of a parmcle as a function of ume t is given by v(1}) = v, (|l — ¢™) The

dimension of v ' is

MY (-2 ACW® 938 9 3 v, v(1) = v (| - ¢ ")TRHAN ST FFS | O

vn."u - W
(C) L (D) Dimensionless (TREEH)

A particle is falling freely from height h to the ground. {Wher€ h'%< R and R ~ Radius of
the Earth). Which of the following figure most correctly dépicts the acceleration *a' of the

particle as & function of time t (neglect vir resistance)!

ﬂﬁﬂhhﬂMWW‘!ﬂtﬁﬂﬁ'ﬁﬂ[thqRﬂR:ﬁﬁhm-
CROW BT (37 v ey (08 v w182 92w -2’ -aw i e 20w Wi
et =03 (Y westem 2y Bt w2y

By
iy
(A) {B) ] i ) E (D) ‘ il
] I i t

Let 1,{1)=3ti <Y and r,(t)=4t'i43t] represent the positions of particles P and ()

respectively @sifunclion of time 1, The relalive speed of the two particles at the instamt
t=1sec will be [consider r,(t) and r (t) are in metres and t is in seconds]

T I (1=3044] T® r (1) =407+ 31) RN HAY 07 Mo p oo Q B
TR WA R s e (=) e e 500 71 4% w0 wirfes @ 3w (w2 s
R (1) O (1) FROWA e | PCETS e gy

(A) 1132 mvs (B) 542 mvs (C) 32 s (D) 1 ms

e i
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PHYSICS
Category-1 (Q. 16 10 20)

(Carry 2 marks each. Oune or more options are correct. No negatlve marks)

v..:.J“" A conducting circular loop of radlus ‘o’ and resistance R 15 kept on a henzontal plane. A

verical time-varying magnetic field B = 24 1 switched on ot time t = 0. Then which of the
following !lllltl'nmll_'ﬂ it are corregl V

(A} Induced emf varies linearly with time t.
(B) Power generated in the coil at any time t is constant.

(C)  Total charge passing through any section of the coil between t = 0 and t = 2 is 4ma® R,
(D} All above statements are cormect

‘2" WA g R e AR ol quen Al 3R wmis wE v wm I B <

T AATEE AW ST oF T v TS | = 0 TRCE B o0 T | DTG TN5T

= Bl oft) e

(A) =R faw T g2 o seeEhE e ofEflE

(B) TMre SEe WHE! 7Y (.9 A0F L3771

(C) TR [0 ToTA e w3 v 1 «{0'8 t = 2 T T Sfsam awGR s
L, I e

Dy B el IR e

e
(177 A particle moves along r-axis Tollowing the relution 1 = 41 -+l -2), where x is the

distance travelled in e I8 that case. which of the following statement(s) is/are true ?
(A) The particle is & dnginatt =0

(B} Imitial veldcimbof the panticle depends on *a',

(C)  Accelérahon of the paricle 15 2a,

(D) The particle comes 1o rest at 1 = 2=2/a

T B W AT 5= 4(1-2)+a(1-2)7 FAG TR N W, TOGH x O | N
wiswm 7y | PreE e oW BEt( o) e

(A) t=0TF08 2% g=fewrs sagm |

(B) TR HfEs A 5 - ag B Seala

(C) TG B TH 2a

(D) ¥ ¢ = 2=2/a FWC0 T2 waww Wi |

e e — I e o T e e e e

T s e —
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Two different coils have self-inductances Ly = 8 mH and Ly = 2 mH, Currents in both cay |y
are increased al o same constant rate. Also, st a certsin instant, the powers given o the ryp
coils are same. I 11, V), Uy and Iy, V3, U: represent the current, the induced voltage and he
energy stored in the first coil and in the second coll respectively at any particular instan;,

then which of the following is‘are correct?

0 TSR VOO WUTH L =8 mH 9 Ly = 2 mH | TS 7 w00 oy o o=k an
lﬂﬂﬂﬂlf@ﬂqﬂimmﬂtmm.!ﬁmt{ﬁmﬂ%
Tl 07 e s, R fiww o s i v L VL UL I, Vo U: T W17

Sew (e (ramrafin ey
II I '|"I.-I | | |_
(A 1,=% (B) V,"a © 7,3 (DI, Vs constant (V1 §3%)

A ray of light of wavelength A incident at an angle 45%gn the surface of o slab of ice of
thickness | m is refracted into it at an angle of 30°._Speedof light in vacuum is ¢ m's. Then

which of the following statemnent(s) is‘are corregy
(A} Refractive index of ice is /7 @

(B} Wavelength of light in ice is Ay/2/

(C) Speed of light in jce is —% 8
W

(D) Time taken by the light oy to cross the ice-slab is 3@ S&C,

1mmmm&1mmmmmmm4suwm
nmmmww%rn.‘mmmmm:mm#m

() 3B el =fiw
(A) TreE ofeonme o= 2 |
(B) a0 w00 & wmemy wewtad T 43 |

() Wﬂmamm—ﬁi ms |
"

(D) mmmmmmw@mm
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a0, "
Cmne mule of an teal gas in imtal state A undergoes a ovolic process ABC A as shown o

the Hgture [f the pressure at A s B then whach of the follow g statemenn s) os/ane cormmect

Yk
o b
L At
< '
= |
Ts

(A]  Intemnl enerpes af A and B are same.
(B}  Work done by the gas in process AB s PV, In 44
{C)  Change in internal energy in complete cvele ABEA is greater than zero.

(D) Temperature at C is 4T,
g% TI =fEe guf W e STEEE A TWE 0F 3@ ABCA i ofiew® oeem
T AW A WETH ™ P, U Aee (e o) ST ef) e

Ly

B
Wa Aﬁ

(A) A6 B SIETs wemdv =& T |
(B) AB =fFum ¥ I ATNTEA PV, Ind
(C)  ABCA +f5Tar wspma wfaFa «fd= = rer 1|

(D) =y P T AL

Paper- |
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CHEMISTRY
Category-1 (€). 21 10 35)

cach. Only one option Is correct. Negative marks: —'4)

! s 'l . " x i-um
Il dissocintion constant of peetic acid s 1.6xI077, the hyidrolysies constant of sod

R i wrfarse S ae (600 T, W TS WG e W

(A 1.AS= 10"

In'" + e pe—t 71

Duning extraction of
13 used 1o redyce the

E‘u~ﬂﬁ'l'fﬁ‘aii?n;

(A} Fes

e -

Paper- |

- The standurd reduction potentinls {F"

By 1.60x10-1Y (] D6S= |0 {0y 0625« 10"

} Tor the following halt-cell reactions are

R (Y
Fe’” + 2 — Fe E'=_044vy
The (E"} for the cell reactian Fe'" +Zn o Fes+ 7n™ will be
(A) - 035y {B) 035V €y 117V (D) 117V
ey wiem St (half-cell reactions) ofF R zrme feme fawa m
Zn' - 2ep—aZn  ph=_ 076 W
Fe' ~ Jepmmd Fe  FP=_gagy
Fe'™ «Zn —» Fe+ Zn™ ram fifwuie EMF @3 5 e
(A} -035y (B} 035V R~ 117v 0y 17w
\“\Jd Which of the following is aot paramagneng ‘7
TG *agvany { parama Enetic) 54 §
(A) Hy (B) 0, (€ o, iy o
4. Tn which of the tollowing coripounds, iron (Fe) Tias the lowest oxidation state 7
ﬁmmﬂﬁrﬁﬂﬂmmﬁ THTBITS! 574t
(A) K l[[-‘r:{i‘?«-'l,,j (B) FeED,.{HH_‘]:Euq.nH,D
(€} Fe,,,0 (D1 Fe.(Coy, -
25.  The par of mi] citles having identical shape is
e w9 g Sy ya
(A} PCl, BF (B) PF,. IF,

(C} XeF,, Co, (D) CF,. SF,
“opper (Cu) from jes sulphide ore, which of the ﬁ'tllnwing COMmpoundg

10
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ul".h".'ll'l rea
EoT w t ¥
all he uaed o meminv'e r"”. i frovm the solution t'nrt[ilﬂil"lﬂ 5”,:- mmcl

Closons

G '
mT'“ T =T T 3w 50, aw o wEn ats S0, W Py

(A N
NaOH (B) BasD, (€1 Ba(OH), (D} Mg iNG,),

IUPAC name of the following organic compound is
M,

H
|-1=.1:1—=II CH,——CH—OCH,
(A) 4 - Methoxy - 2 - methyipent - 1 - ene
(B 2-Methoxy 4-metslpent 4 - ene
(C) 4 Methoxy - 2 - methylpent = 2 - ¢ne
(D] 5-0XO0- 24 dimelhylpent- | - ene
e tewrii@a IUPAC v T

CH, H,

H,C=— CH.——CH—OCH,
(A) 4-Taef -2 - fiwlert -1 %5
(B) 2 -fefEr - 4. Freleret _ 4L B9
(C) 4 - Toefly_ 2. Al {700
(D) - 24 - witfa=prt . | 19

s B b
Fud  olla

L4

How many stoms of an dcidic hvdrocarbon of molecular formula C H, lie on a strmght
e 7
C,H, s Mrew R 0ol s nigdm soof wom oo e was
B

(A) 4 By § Cy & (DY B

s,
The otal number of all the isomers possible for mbromaobenzene is 'I_ lr'
IErriar=a =997 797 TuEET UG T TR - -
(A) 5 By 4 T3 Dy 2

— T —— O aa e

Paper-1 11 @ (=]
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(A) 1.0 (B) 05wy Ty 075 wH

JENPAS(UG)-2023 ity {0 water
Among the fu[[nwll'lﬂ compounds the compound which has the highest soluility
is

(A} Phenol {B) Benzophenone
(C) Benzoic acid (D) Sodium benzoste
hmmwhtmnm“mmmm“
(A) Tw=m (B) TEwTwT=R

(C) Tewite =5y (D) s Taraet

Conjugate scid und conjugate base of HOY CH,),NH, are respectively
HOICH,),NH, ¢ sl wifrs o w1 werr

E a
(A) HD(EHEJJHHJ,ILHMMHHCH:]JNHI
" &
(B) H,0§ CH,y)\NH, and (@) HO(CH,},NH
@ o
(C) HD{CH:]J.HI{_:ancl[ﬂ]-Hﬂ{f‘H:}.NH

L] =]
(D) HyO{CH,},NH, and (=) @ (EHNH,

; T W g flee w4
mmﬁrﬂuﬁmwﬁwm. ﬂﬂ'ﬁf‘iﬂmﬂh'ﬂlﬂﬂﬁmﬂiﬂ
(A 1:] (B) 1:4 (C) 4:-)

Dy 1:2
The dimensitn of the coeff;
EE 997 T 5w

(A) L2 {B} ML T2 (C) ML-IT-1

l:ir.‘ntul"-'immi:} 15 given by

Dy ML
In o first arder reicton, the concentration of the meactlanl becomes 00625 of i1 initial
concentration after 2 hours, The half-life of the [CEC

‘r_ipningivmhy
(A) 1ok (B] 05hr (CY 075k (D) 0.25hr

S .

e
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JENPAS(LG)-101)

CHEMISTRY
Category-2 (. 36 to 40)
(Carry 2 marks ench. One or more options are correct. No negative marks)
Iowing statements about PO, end .0\ are comect
(AY Both form oxoacuds HiPOy and HyPO, respectively
(B)In PaOy each 'P* ix jolncd with three 'O wtom und in PuO o each P is joined with
five 0" aom
[(C) In PaOls ench P 15 joined with three 'Q° atom and in PaCdys each “P° 8 jmined weth
four 'O atom

(DO} Tn POy each ' 15 jined with four "0 alom and in PaOyo each *P° is jalned with six
' atom,

e rerm fimfal fgfeef® poo, gae o, wvide »Fw

(A) T =T w5 0 0T HLPOY ST HL PO,

(B)  PaO. wwETE R0 P ol 00 wee g e e P, Wl oD
5% 0" =g g e T

1€} MO, Tl o3 p fEmD -0 s cr ke Tw o, .0, SETS o0 e
5l 0 g aw Hew gF e

(I PO, Swkes 10 52 o «weepatee 9 W, 1.0, SAEE ol e
Wl () =] g7 e I e

Which of the fiollowing aquenus mixtupes, Wl function as buffer

Firamee to witg feo /Trmerafiy 2pord 79 fioerz ww v

{A) NaCl+ NaOH (B} Borax + Bone Acid

(€}  Na HPO, + NuH.PO, (D) NH,Cl+NH,OH
The product{s) formed 1n (he following resction 15 fare): e vure Seem el {Iﬁt} L

. ¥ NaOM
cIch,cocH, WHE / -

- 4
(A) CICH,COONa" (H) CHBr, (C) CHUIBr, AD} CHCOONE

Which of thetl lowing have all equivalent canomcal strucrures 7

s (e e el Freerma e T
1§

: ® Kil-
2] =
(A} €O (B) HL=——C—0H, () H,C-CH= CH, (D) "

- H:H-"""A.H""-ml_.

How could you increase the extent of adserpuion (gas adsorbed per unit mass of solid) of a
gas on & solid surface in case of physisomption 7

(A] By increasing the temperature. (B} By lowenng 1]?11: lemperature.
(C) By gnnding the solid 1ato powder, {D} By lowenng the gas pressure,
vifwrer) Fame wer 1 (IS ST re)

(A) wrmzmafgr () wemmr I () IWWEfem (D) weR s eR

Paper- | 13 ﬁ o



JENPAS(UG)-202)

BIOLOGY
Category-1 (. 41 to 55)

{(Carry 1| mark each. Only one optlon ls correct. Negative marks: —'4)

- -I.f Hod Chrome’ 12 found 1n
(A} Stratosphere {8} Lithosphere (¢} Hydmsphere

“ATE GWE MY IO <X ;T
(D7 oo

(A) gmitewr B fefrm o) wRme

- 42 Which one of the tollowing membranes surrounds the heart ?

(D} Troposphere

iA)  Pericardium (B)  Pleurn (ICy  Medstenum (D) Diaphragm

s ripefie (oAl anfrsrs Rz aoe e

(A) T gy (C)  TeiEeFeEy (D) HeTeE
-3, Golden rice developed by genetic engineening is able to produceexcess amount of

(A} Vitarmun D (B} B- cdrolen® and ferritin

(T} Bioln (DY %ilamin C

mar=fow Hafu v tol omss 74 o TamSeE W

(A) febfim i (B, A =l o rwfSs

(€) =W (o) W

vi4 " Which one of the following malarial pardsricvhas the longest | ]
gest incubation period 7
R wmetree +eilfaefin I AEDTE e tflirrem wwwam pre am
(A) F:fm mmii::rnr Vi (B Plavmndiim maluariae
(O Pluxmedium ovale (D Plasmadium fulciparum

“-_g In which era reptiles weretduminared
(A)  Archaeozoic cro,(BY Palacozoic erg {C} Mesozoic era [
. ! ; {D} Coenvzoic era
T T w3 s wfersy fim g
(A) Wi¥steieae (3 mfastefie om () WO w0y Srsmenfie o

_-Iyﬁ The respiratory Sentre in human brain 1s located 1n
(A) Cerebellum (B)  Hypothalamus () Medulla obl i
W ]
o i : oblongata (D) Spinal cord
(A) Dferesm (B) WERCTMFTES (O} (U e (D) YYE=S

llrl_."
Lﬂf (.::J::nzu:‘: 5 I:_nuwn for his conmibution in the understanding of which one of the following °?
{A) utation (B)  Transeription (C)  DNA replication {D) Translation r

hﬁmﬂﬁmmmmwmr
(A) FEowm (B)  Grsfaperm (C) DNATE™ (D) Srmem

Faper- 1 N
14 (|
ﬁ
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Wi s g as per ChargafTs rule

BTS2 A wpare fyfiee ree® oy

Al A=

48, Which one ot the ful

A&+l

I'\.l"li.] |'"| ' ':1 = 1 = ll l[-'l' E-r" [ II:” {-I ¥ “_"

40 Which one of the following s the miuation codon tor svnthesis of proten i eukarvoles *

el wry raw T on TR M e reraa g
(Al GLG (B LG (Cy ALG (D} UAG
v S0 The edible part of mango
(A)  pericarp (H)  exacnrp () mesocam 01 endocarp
=N e e e
(A) THY= 1By = (C) TS () =
5_ S, ATPase enzyme needed for muscle contraction 15 |dgated in
(A} acliun (B} tropomin (C~myosin (D} achn
O = WISTTE WA T8 AT Puse SUEEH0 AN o ot ST
(A) s (By e W) WA (D) =A
| #.ﬂd-f Whach of the following plamt pars isusédio obtain haplaidy ?
- (A} Embryo (B) Copfledons (C)  Apical buds i Anther
Fafefee Sesmre RS wen(S S m e 1
(A) 3 By ez () TR (D) T

\_,.’r!n,., Which af the followngeel! orpanelles does pot contain DNA °

(A} Nucleus {B)  Lysosomes IC) Chiloroplast (D} Mitochondna
e e S e wnn el DA ere

(A e (B) *IRTHETT (C) WS (D) AT

'/Dnurn‘i syndrome in human occurs due to tollowing chromosomal disorder

II {A)  21-trisomy (B} |B-insomy 1y XXY (D} XO
TIHwE 16w A R Ryl o gty see v
(A) 21-Grwfr @y s-TEEMR ) XXy (D) XO

| ,FSI The waxy substance associated with the wall of the cork cell 15

i fAy Cutin (B} Lignin (€ Pectin (D)  Suberin
Ty el oo T 3fETie <4 e opfieeT e o 0 .
(a) foofs {B) Sl (©) TEdE (D) afEn

an :
Paper- 1 15 ﬁ
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JENPAS(UG)-2020

BIOLOGY
Category-2 ((}. 56 to &0)

(Carry 2 marks each. One or more vptions are correct. No negative marks)

| %6.  Which of the following are examples of intra utenine device ?
- (D Yauls

(A) Cenvical cap (B) Lippes loop (C)  Muluload 375

Ry R Wy el we s werg Beirm I ¢
[A) NSRSV A (B (e w (C) Wmens 375 (D) WD

=
L

9.

L

Identify genelic discase{s) from the following :
{A) Phenylketonuria (B) Gonorhoea  (€) Haemophilja {D) Leprosy

wwe e/ efiTE e e
(a) Ffemt=fainfie(g) w=fiw (Cy Srmfefre (D) F¥ (Leprosy)

Which of the following elements are considerad as-micro-elements for plant growth

(A) Manganesc (.B]'f Molybdenum  AC)./Potassium (D) Coball
Exfe Eermmefin o reme 8o, YRs WEEESErre fn ww I

(A) wrfaw (B) W=y (Cy *Dfrum (D) TFa

.C'umgi::ncm of eyloskeleton present in‘a cell are

{AY  Actin and myosin

(B} Actin and microtubule

(C)  Myosin and mctotubule

{D}  Actin, microtubule and intermadiate filaments

ot FROTS T e 1w

(A) ErERE IEEe

(B) wTaHT & T eaen

(C) TIOHR & MR 45m

(D) ST, METEGSAs® o ToriETsrs et

(A} Barbiturates (B) Morphinc (C) LSO (D} Heron
e remRe ™ wfon willy e 5410
(A) ¥EpraGw (B) W= (C) o7 a¥fE (D) TaEEs

Faper- | 16 E
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ENGLISH
Category-1 (Q. 61 10 D)

(Carry 1 mark esch. Only one option Is correct. Negative marks: —'4)

81, Choose the it

nll iﬂ" | ¥ ll el | H-t

"Il just tell the professor that | him when he told us when the paper was due,
(Al used 10 misunderstand (B} must have misunderstood
() could msundersiand (D} should have misunderstood
4. Choase the most appropriate option 1o fill in the blank to complete the sentence masi
meamngfully
Her silence was ipken as ______ agreementl.
(A} hostle (B} tacit (C) oven (D) general

. Select the most appropriate pmr of words to fll m the Blanks in the same order 1o make the
~ %7 senlence meaningfully completc -
The imposed was too 10 siedd any result,
(A} high, fine [B) penalty, low
(CY  puwushment, harsh (02 toll, simple

L -"S'-:I:ut the most sppropreate pairaFwdrds w fill in the blanks in the sarme order to make the
senfence meaninghully complete

Mr. Alex  aboat and A 8 into the lagoon.

(A} hired, mowed (B) hnn;:dd ran {C) boarded, swam (D)  saw, walked
f"ﬁ,, Select the most spprapridte preposition‘word/group of words to fill in the blank to make

the given sentence moas meamngfully complete

There . \Both the challenges and the apportunities.

(A} lay (B) lies (T lied (D) laid

. Select the mnst Bppropriate preposition/word group of words to fill in the hlank

10 make
the given sentence most meaningfully complete -
o not waste time and energy in bemng jealous your nval's sugcess.
(A)  about (Bl  with {C) of 1Dy for
\_)ﬁhnus: the most

approprate filler to complete the BIVEn sentence correctly and most
meaningfully

Whichever way we approach the problem, L
(A} po one will not solve it
(C) ot will not be solved,

—

{B) it will not solve.
(DY s solvable.

s -
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\, 88 Choose the option, which can best replace the group of words given in bold italics |

She exhibited remarkable sangfrold during the crisia.

(A} Temper (B) Irmitation (C) Composure (D)  Anger
~$8. Choose the option, which can bes! replace the group of words given in bold |talics :

A movemnent for the world unity is in the affing.

{A). Althe end (B} Abouttostat (C) Ondecline {D} In the air
|18 Select that word which needs to be removed from the given sentence (o make 1t

grammatically comect

You should tell to me exactly what happened there,

{A) should (Bl 1 iC) what (B but

91" A sentence is piven in active (passive) voice. Select the alternative which best expresses

the sentence in passive (active) voice :
Why do you waste ime 7

{A) Why is time been wasted by you ” (B), - WHyis time wasted by you ?

(C} Why has time been wasted by you 7 (DI Why ime was wasted by you ?

32" A sentence is given in active (passive) vaioesSelect the alternative which best exprosses

the sentence in passive (active) voice :
The beggar was heing laughed at By therm,

(A) They were laughing at the beggar. (B} They were laughing on the heggar.
}E‘] They laughed at the beppsr. (D) The begear was loughed at by them.

L}J{ A sentence 15 given in diree?(indirect) speech. Select the alternative which best expresses

the sentence in indireet (dicect) speech

He smid, T cleangmp teeth twice o day”.

(A} He smd tharhe cleaned his teeth twice 8 day,

(B} He sind\that he cleans his teeth twice o day.

(C)  He smd that he used 1o clean his teeth twice a day

(D) He said that he is used to cleaning his reeth twice & day.
. Identify the erroncous part of the sentence .

{A) Most of the redents (B]  wore outside
(C) the building (D) when 1t was collapsed.

(€ ;&./Idmtify the erronecus part of the sentence
' {A) A planto sel upa primary (B} school in the locality
() were in the minds of the (D) people for some years.

P ——— ———— e
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_-}\‘:. Select the sentenee which is grammalically WTDHR !
(A} Nothing by fancy food delighty him
(BY 1 cannot ruise this Jond,

(€Y This is the book that | wani
.:EH The thief divested the woman trom all her jowels,

,L_ 77, Select the sentence which s grammalscally WTDn.
(A} Ishall inform them about this.
(B)  He baarded the fram
(C) A bunch of keys have been lost
(1} Ask his why he wastes time.

T8 A sentence is broken in six pans, The parts P, , R and 8 3reshuffled. Select the correct

aption below to arange these pans o as to form o complelcam! most meaningful sentence -
(1} There was a time when
(P} produced for isell most
(Q)  each village actually
(R) it needed for
(5) ofthe things
(6} 1ts everyday life.
(A} QPSR (B] PSRQ (Cy QRSP (D) SROP

. % L The speuker was laughedaMor his amtic BEStures.
Il Anrigue jewelleriesdre much in demand now a days,
Consider the two words invbold inalic 1n the above two sentences and select the correct
option from below.
(A} Unmly sentenge Nis comrect.
(B} Only seiitence [[ is correct.
(C) Both sentences | and [ are correct.

}  Meither sentence | nor sentence 11 is correet,
. L Severe draught affecred the crop production this YE4r.
Il Most humane approach of the new manager affected & notable improvement in the
lcam,

Consmder the two words in bold italic in the above two senlences and select the cofmect
opiion frum below -

{A) Only sentence | 1s comrect

(B} Only sentence Il 15 comect.

{C} Both senmtences [ and 1| are correct,

(D} Neither sentence [ nor sentence 11 15 correat,

m—— e ———— e Ll b T S ———
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LOGICAL REASONING
Category-1 (Q. 81 to 100)

(Carry | mark each. (uly one option is correct, Negative marks: ='4)

B1. In the following questions, some words are given which are related in some way, the same
relationship exists amonyg the words in one of the four alternatives given under it Find the
correct alternative
Fumniture = Table ; Almirah
{A) Building : Wall : Bnck (A} Frun : Omnge : Apple
{C) TV : Radio : Mobile phone (D) Sea: 5kv: City

B2, BEGK is related to ADF). in the same way as PSVY 15 related to ¢ N

(A} QROX (B) PRUZ (Cr OQUX 0y ORUX

B3 ‘Select the pair in which the numbers are similarly related fis g the given pair
515
(A) 756 By 3:15 (C) )% 132 (D 945

ll{' There is p relationship between first two_terms and the same relationship holds good
between the next two terms. Find ow the missing term |
CAT:DDY . :BIG : 7
{A) CLL (B) BBL (Cy CZP Dy CLM

85,  Select the parr in which the letter groups are sumilarly related as in the given pair

- CEH : IKN
(Ay ACE:EGI (B) JEFG: KMN Ty CDF . UK (D) OQT : UWZ

v 86- " Choose the word whukh 18 least like the other words in the SroUp .
| (A)  Zebra {B) Lswn (€) Tiger (D} Cow

- Choose a figufe'from the four alicmatives which would replace the question mark ( 7)

T elex| |
L&i E (B} E () @ (D) E

-~
\__8f, The mirror-imageof W H [ TEis
{A) J1IHW () ATIHM iCy ETIHW D ATIHW

,ID A clock seen through o mimror shows guarter to three. What 15 the correct time shown by

the clock 7
(A) 2:15 (7 915 (DY B:15

(B) 9 45

_ - ——— o

i ol i iiant'ed _ ;
Paper- | 20 ﬁ (=]



JENPASIUGHI021

. Choose the correct water image of the given figure |

[HsaTEn

© .8 -0 -@

L 9 HHi%n: from amongst the four altematives, which complete thegiven figgure .

?

|-
g -3 8 -0

o~ } |
L/)!' The six fices of & dice have been marked with alphabets A, B. . D, E and F respectively
The dice is rolled down three timeh, The Positions are shown is:

@ G

Find. she letter oppisile A -
JAT. D w(B) F AGT E oy C
d te th
When the tollowing figure is folded to form a cuhe, how many dors would he oppost c
face bearing five dots 7

%

e
L [
® | e
L X
(Y ]
e I.l
-4 TN
4
(A) 1 {B) 4 ~ 1) L _jprs

—— e TR ——

: (=]
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If SPIDER is wrillen as PSDIRE n a certan code, how would COMMON he wnitten o
that code ! e M 4R

AT OCMMNO iRy OCNOMM () OCOMA iny OCMMON

_H-.. If the letter FPRABA arc coded as 27595 and THILAK are coded as 16H451, how can
BHARAT be coded 7
(A) 965715 (B) 9ATSS3 (€} 965573 ADY unE783
L 98, According 10 a cerluin cile, -
: C\ 7T
(I} ‘min fin bin gin" means “iriins are alwinys late’, ‘@)
(I ‘gin din cin hin’ means “drvers were plways punished’ | VT
| .7 i L

(1) ‘bin cin vin rin® means *drvers stopped all trains’,
(IV) ‘din kin fin vin' means “all passengers were FTTN

Then “hin min kin' would mean (
-« i
87\ Passenuers are punished

{A)  Always late ran
(B} Passenuers are late

(Cy  All passenges train

"97. [nncerain language, ‘4817 means ®WIEblue’ ‘2467 means "sea 1% deep’ unil *6UE" means

) *sed [ooks blue”
What number is the code for(decp” 7

(A 1 (B 2 cr 4 Dy 4
98. Find the missmg [eon of the given series ©
14,27 08036, 343 .
(&) 25 By 32 () A4 B 125
_W: "hoose the correct alternative from the given ones thut will complete the senes:
3,535 10, 12,38, .
(EYI A (B 17,19 cy 12 M (D) 45,47

. Choese the correct allermanive -

Assam . Dispur ;- Nagalond @ 7 _
{A) Bangalore (B Shimli (€1 Gangtok A kohuma
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